

①

$$\frac{n}{y} = \frac{\omega}{x} \Rightarrow \frac{n'}{y} = \frac{1+\sqrt{\omega}}{x} = \frac{2n'}{2x} = \frac{2n'}{2x+\sqrt{\omega}} \Rightarrow n' = \frac{2x+\sqrt{\omega}}{2}$$

$$\frac{S'}{S} = \frac{n'y}{n'x} = \frac{2x+\sqrt{\omega}}{\omega}$$

②

$$\frac{\sqrt{x^2+y^2}}{n} = \frac{1+\sqrt{\omega}}{x} = \frac{2\sqrt{x^2+y^2}}{2x+\sqrt{\omega}} = \frac{2x+\sqrt{\omega}}{2x+\sqrt{\omega}} = 1 \Rightarrow \sqrt{x^2+y^2} = x + \frac{\sqrt{\omega}}{2}$$

$$\frac{x^2}{y^2} = \frac{x}{x+\sqrt{\omega}} = \frac{x}{1+\sqrt{\omega}}$$

③

$$3a + \sqrt{4a^2+9a} = 2 \Rightarrow \sqrt{4a^2+9a} = 2-3a \Rightarrow 4a^2+9a = 4-12a+9a^2$$

$$\sqrt{4a^2-19a+4} = 0 \Rightarrow 4a^2-19a+4 = 0 \Rightarrow (a-4)(a-\frac{1}{4}) \Rightarrow \begin{cases} a = \frac{1}{4} = 0.25 \\ a = 4 = 4 \end{cases}$$

$$\left. \begin{aligned} 9 + \sqrt{8+8} &= 2 \quad \text{غلط} \\ \frac{9}{\sqrt{8}} + \sqrt{\frac{8}{8}} + \frac{\omega 9}{89} &= 2 \Rightarrow \text{غلط} \end{aligned} \right\} \frac{a+1}{a} = \frac{\frac{1}{\sqrt{8}} + \frac{1}{\sqrt{8}}}{\frac{1}{\sqrt{8}}} = \frac{2}{\sqrt{8}} = \frac{1}{\sqrt{2}} = \frac{1}{\sqrt{2}}$$

④

$$\frac{\sqrt{n+1}}{\sqrt{n-1}+3} = \frac{\sqrt{n+1}}{\sqrt{n-1}} = \frac{n-1}{\sqrt{n-1}} = \sqrt{n-1} \Rightarrow \frac{(3-\sqrt{n-1})(\sqrt{n+1}) - (\sqrt{n+1})(\sqrt{n-1}+3)}{9-(n-1)} = \sqrt{n-1}$$

$$\frac{3\sqrt{n+1} - \sqrt{n^2-1} - 3\sqrt{n+1} - \sqrt{n^2-1}}{9-(n-1)} = \sqrt{n-1} \Rightarrow \frac{-2\sqrt{n^2-1}}{10-n} = \sqrt{n-1}$$

$$10-n\sqrt{n-1} = -2\sqrt{n^2-1} \Rightarrow 10-n\sqrt{n-1} = -2\sqrt{n-1}\sqrt{n+1} \Rightarrow -2\sqrt{n+1} = 10-n$$

$$\sqrt{n+1} = \frac{n}{2} - 5 \Rightarrow n+1 = \frac{n^2}{4} - 10n + 25 \Rightarrow n^2 - 22n + 99 = 0 \Rightarrow$$

$$n = 12 - 11\sqrt{3} < 0 \Rightarrow \text{غلط} \quad \frac{n}{2} - 5 \geq 0 \Rightarrow n \geq 10 \quad \text{ارزش مثبت}$$

$$n = 12 + 11\sqrt{3} \Rightarrow \text{غلط}$$

⑤

$$\frac{1}{\sqrt{2-n}+2} - \frac{1}{2-\sqrt{2-n}} = \frac{2-n}{\omega \sqrt{2-n}} \Rightarrow \sqrt{2-n} + 2 + \sqrt{2-n} + 2 = \frac{2-n(-n-2)}{\omega}$$

$$2\sqrt{2-n} = \sqrt{2-n}(-n-2) \Rightarrow 1 = -n-2 \Rightarrow n = -3 \quad \text{ریشه مثبت ندارد}$$

$$\frac{1}{n^2} + \frac{1}{(1-n)^2} = \frac{19}{9} \Rightarrow \frac{1}{n} + \frac{1}{1-n} = \frac{\sqrt{19}}{3} \Rightarrow \frac{n+1-n}{n-n^2} = \frac{\sqrt{19}}{3} \quad (9)$$

$$\frac{1}{n-n^2} = \frac{\sqrt{19}}{3} \Rightarrow n-n^2 = \frac{3}{\sqrt{19}} \Rightarrow \sqrt{19} \cdot n - \sqrt{19} \cdot n^2 = 3 \Rightarrow$$

$$\sqrt{19} \cdot n^2 - \sqrt{19} \cdot n + 3 = 0 \Rightarrow \Delta = 5 = \frac{b^2}{4} = \frac{(\sqrt{19})^2}{4} = 1$$

$$\sqrt{n+1-n^2} + \sqrt{n^2+1-n} = n+1 \quad (10)$$

$$-n^2 + 9n - 1 \geq 0 \Rightarrow \frac{1}{-1+1} \Rightarrow 1 \leq n \leq 9 \quad (11) \quad -n^2 + 9n^2 + 16n - 1 \geq 0 \Rightarrow n^2 - 9n^2 - 16n + 1 \geq 0$$

$$(n^2 - 16n) - (9n^2 - 1) \geq 0 \Rightarrow n(n^2 - 16) - 9(n^2 - 1) \leq 0 \Rightarrow (n^2 - 16)(n - 9) \leq 0 \Rightarrow$$

$$-16 \leq n \leq 9 \quad (12) \quad n \leq -6 \quad (13) \Rightarrow (11) \quad (12) \Rightarrow n = 9 \quad \checkmark$$

$$\text{if } n = 9 \Rightarrow \sqrt{9+1-81} + \sqrt{81+1-9} = 9+1 \Rightarrow 0+9=10 \quad \checkmark$$

$$\frac{1}{-n-1} + \frac{1}{n+1} = \frac{1}{\sqrt{19}} \quad y = \frac{n}{\sqrt{19}} + \frac{1}{\sqrt{19}}$$

$$-n-1 = \frac{n}{\sqrt{19}} + \frac{1}{\sqrt{19}} \Rightarrow -9n-1 = \frac{n}{\sqrt{19}} + \frac{1}{\sqrt{19}} \Rightarrow -10 = \frac{n}{\sqrt{19}} \Rightarrow n = -10\sqrt{19} \Rightarrow y = \frac{1}{\sqrt{19}}$$

$$n+1 = \frac{n}{\sqrt{19}} + \frac{1}{\sqrt{19}} \Rightarrow 9n+1 = \frac{n}{\sqrt{19}} + \frac{1}{\sqrt{19}} \Rightarrow 10 = \frac{n}{\sqrt{19}} \Rightarrow n = 10\sqrt{19} \Rightarrow y = \frac{1}{\sqrt{19}}$$

$$AB = \sqrt{(10\sqrt{19}-0)^2 + (0-1)^2} = \sqrt{1900+1} = \sqrt{1901} \Rightarrow 43.7$$

$$y = \frac{1}{\sqrt{19}} n + \frac{1}{\sqrt{19}} \Rightarrow y = \sqrt{n^2 - 19n + 1} \Rightarrow y = \sqrt{(n-9)^2} \Rightarrow y = |n-9| \quad \frac{1}{\sqrt{19}} n + \frac{1}{\sqrt{19}} = |n-9|$$

$$\frac{1}{\sqrt{19}} n + \frac{1}{\sqrt{19}} = 9 - n \Rightarrow \frac{1}{\sqrt{19}} n + n = 8 \Rightarrow n = 0 \Rightarrow y = \frac{1}{\sqrt{19}}$$

$$\frac{1}{\sqrt{19}} n + \frac{1}{\sqrt{19}} = n - 9 \Rightarrow 1 = \frac{1}{\sqrt{19}} n \Rightarrow n = \sqrt{19} = y = \frac{1}{\sqrt{19}}$$

$$AC = \sqrt{(10\sqrt{19}-0)^2 + (0-1)^2} = \sqrt{1900+1} = \sqrt{1901} \Rightarrow 43.7$$

$$AB = \sqrt{(10\sqrt{19}-0)^2 + (0-1)^2} = \sqrt{1900+1} = \sqrt{1901} \Rightarrow 43.7$$

$$\frac{1}{n} + \frac{1}{n+9} = \frac{1}{10} \Rightarrow 10n + 10 + 10n = n^2 + 9n \Rightarrow n^2 - 11n - 10 = 0 \Rightarrow$$

$$(n-11)(n+1) = 0 \Rightarrow \begin{cases} n = -1 \quad \text{reject} \\ n = 11 \quad \checkmark \end{cases}$$